© SSC CGL/CPO/CHSL

TRIANGLE &%

(Braror)
PART-2
Most Asked Questions By SSC




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

Pardeep Ahlawat 7 minutes ago
H.w Q .Ans(b)6

db SP  REPLY
Muskan Raj 21 hours ago
Answer-b-(6)

b GP  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

ARNAB DEBROY 22 hours ago
b::'El
g &GP  REPLY
+ View reply from Mahendras : Online Videos For Govt. Exams
e Aniket Das 21 hours ago
6

@5 GPF  REPLY

* View reply from Mahendras : Online Videos For Govt. Exams



Consider obtuse—angled triangles with sides
9cm,21cm and x cm. if 21 is the greatest side
and x is an integer, then how such triangles
exist?
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in the given figure internal bisector angle of
L‘ACB and external bisector of
/ 4ABC meets at point D. find /4BDC?
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7 “In the given figure AF is angle bisector of angle i
BAC and CD is exterior bisector of angle BCA a)ao
then what will be value of 0? b)45°

freae T &, AF, /4 BAC &T 3TaRe FIoT
HCfaNTSF gIafe 5o ¢, /4BCA FT c)ag’
maﬂwaﬂaﬁnm%l 0 T ATl AT F d)30°




In triangle ABC /4 B=65° and /4 C=35°, AD is
perpendicular on side BC which meets side BC
at point D, AE is the angle bisector of LBAC

find / DAE?

fsrsr ABC # /4B = 65° 31T /,€=35°,AD
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In APQR, Z2Q > ZR, PS is the bisector of ZP
and PT L RQ. If ZSPT = 28° and ZR = 23°,

then the measure of ZQ is :

APQR #, Z/Q>R, PS, /P &I GfasTas g
3R PT LRQ I £SPT =283k LR =23°
g, ar ZQ &T AT &

a)79°
b)74°
c)82°
d) 89°
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'In the given AABC, AD=DE=EC=BC then find
LA: £LB?

feT Iy AABC #, AD=DE=EC=BC & d« 2A: 2B

T HTeT FT 19T ?




In the given triangle, if AD=BD=AC then the
value of angle C will be?

few are fyerer &, afe Ap=Bp=Ac d& [ c #
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In the given figure QS is external angle bisector
of APQR, if PQ=RS, then find a?

few a7 T &, 3T QS T FIVT WAGANTSF
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In the following figure if AD=AE, CD is internal
angle bisector quACB. Find 67

e &, If& AD=AE, 3T 8= cp, [ ACB &1
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The sides AB and AC of triangle ABC
are produced to P and Q

respectively. The bisectors of Z/CBP
and ZBCQ meet at O. If the measure
of ZA is 44°, then what is the

measure of lZBOC"
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